
Q1
By drawing an appropriate part of the number line, show the part of the number line described by each of the following inequalities.



a)
x ( 3


b)
x ( -1

c)
2 ( x ( -5



d)
3 ( x ( -2

e)
-3 ( x ( -2

f)
7 ( x ( 6

Q2
For each of the following, draw and label a number line from –5 to 5 and use it to represent the inequality:



a)
x2 ( 4

b)
9 ( x2

c)
x2 ( 0

Q3
Solve the following inequalities:



a) 
2x ( 16

b)
x + 2 ( 5

c)
x – 3 ( 10



d)
5 + x  ( 12

e)
x/2 ( 4

f)
2x – 7 ( 8



g)
3x ( 27

h)
-5x ( -25

i)
2(5x – 4) ( 32

Q4
When a number is doubled and 5 is added, the result is always less than 15.Write this information as an inequality and solve it to show the possible values of the numbers.

Q5
Solve the following:



a)
5x – x ( 3x – 10


b)
7 – 2x ( 4x – 8



c)
-2x – 7 ( 9



d)
12 – 3x ( 18

Exam style questions
Q6
a)
Rearrange the inequality
4n –7 ( 26 + n 


into the form


n ( a number



  (2 marks)

b) Write down the least whole number of n that satisfies this inequality.

(1 mark)

Q7
a)
Solve the inequality 
2n –1 ( n + 3




  (2 marks)


b)
List the solutions that are positive integers.



   (1 mark)

Q8
The inequality 
3n + 13 ( 5n – 6 
can be arranged into one of these forms EITHER n < a number OR n > number.


a)
Rearrange the inequality into which ever form is correct,
(2 marks)

b) Write down the least or greatest whole number of n that satisfies your 

   
inequality, stating whether it is the least or greatest.

  (1 mark)


Q1
a)



b)



c)
 


d)



e)



f)


Q2
a)



b)



c)

Q3
a)
x ( 8

b)
x ( 3


c)
x ( 7

d)
x ( 7


e)
x ( 8

f)
x ( 7.5


g)
x ( 9

h)
x ( 5

i) x ( 4

Q4
2x +5 ( 15


x ( 5

Q5
a)
x ( 10


b)


c) x ( 8

d) x ( 2

Exam style questions

Q6
a)
3n ( 33


b)
n ( 11
12 is least whole number to satisfy

Q7
a)
n ( 4

b) 1, 2, 3

Q8
a)



b)


